EERREMGRE=2) VT (REEUE%
(5F3E7H148B~8A5H =)

F14E)FER

RF DK E B RAE (RHHRYD)

BERKERAEAR (RF AU

BAESS R ERBIEE(L Sv/h)
- EESE
No. | mBTH 7 R BE | soom BieAR xH (thsk - 4BBD T 1918H) i
o sm | ®iem [ 4@ | #sm | _4m | ®ism
mass | pare | pase | HasR | BaeR | Bage
) 50cm 0.11 0.15 0.08 0.10
353 | =M BERRIREYIST HMARIRESSD 78168 [EEE] &L
m 0.11 0.13 0.08 0.10
50cm 0.10 0.11 0.08 0.09
354 |=Z&MET Z Dt WRBETAH—ERUON=ZEFEHE| 7H168 [EEE] &L
m 0.10 0.11 0.09 0.09
50cm 0.09 0.09 0.09 0.09
355 | =ZHT BERBRFELHE FIESH>THHMHE (R RFRE) | 7A16R [EEE] &L
m 0.09 0.09 0.09 0.09
50cm 0.09 0.09 0.10 0.11
356 | =ZHT BERRFELHE FESH>IHEHRE (FEHMRARE)| 7168 [EEE] &L
m 0.09 0.10 0.10 0.11
50cm 0.10 0.11 0.09 0.09
357 |=F&HT ZDfth DU2IHAE=E 7816H [EREE] &L
m 0.10 0.10 0.08 0.09
= smg pame  |EEDOCRARE (BRERREL S0cm 0.08 0.09 it =
358 |=F&HT MREBFELHE ) = 7816H - 0.08 0,09 [EpEZ] &L
_ _ . 50cm 0.13 0.11 $738 b
359 |=#HT Z Dt =EEFECRIER4— 7H16H - o011 o011 [EEZ] ®mL
50cm 0.08 0.10 =
— 4 |G e = — " = F13EILFHEXZ N
360 |=Z&=AT MREREYSD BIREVSD 7H16H - 009 009 [EEZ] ®L
) 50cm 0.09 0.07 0.10
361 |=Z&=MT WREREYST hAlEHZD 7816H i s
m 0.09 0.08 0.09

¥ TE13EAERRIEF. FMN2F8A3E~8A19BICERLMESREEMSHRE=FIJHE (RERUERFE13M) IICHTIREHR TOMITOVTIE, HERIEHT S,

1/1




